Euphonium 2 (Grade 4/5)

Pyotr Ilyich Tchaikovsky

Russian Dance (Trepak)

g
o
-
a0
g
~
~
(2
e
g
<
=
o
~
2]
~~
S
(o\]
v
9)
I
)
N
Q
Q
)
v
oy
»
Q
~d
y—
m

%

1)
Iy

<

Iy

—

1§l

<

13

Iy

1)
L)
4]

L)

1§

4]

1

194

17

1)

1]y |
U
¥ T

e Lo .o

N

-
) 1

1o o4

® O .

S

-
1) 1

-

1 o8

Iy

14

19

194

< ¥ <
] e ® ® @7

28

33

1§l




Waltz of the Flowers
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Euphonium 2 (Grade 4/5)
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Euphonium 2 (Grade 4/5)

Fl. 4/5

164

#
#

k)

Kvigl

h:%'

.'.h

=
=

o

P
®

5.

172
XX,

A\l 20"

eop

-

-

XY

180

#
A\ O30

=

&

h:%'

189

#
Ml OXF- 20"

o

-

-

=

oo e

197 @

#
A\l CF- 20"

il

h:%'

205

#
A OFF- 20"

213 .

#
Ml -0

e o o &

o

"

219

&

A\l O3




